Section 3.2 – Graphing Linear Equations

Definition:  An equation equivalent to
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  where m and b are constants or
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  where A, B, and C are constants and A and B are not both 0

is __________________ because the graph of the equation is a straight line.

To graph a straight line, find at least two solutions to the equation by choosing a value for one variable and solving for the value of the other variable.  Plot the ordered pairs and draw the line passing through the points.

Ex 1:
Graph  
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Definition:  The point where the graph crosses the y-axis is called the ____________.

NOTE:  To find the y-intercept, set  
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 and solve for y.

NOTE:  In the form  
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, the y-intercept is 
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Ex 2:
Graph and identify the y-intercept:  Graph  
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Ex 3:
Graph and identify the y-intercept:  
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Ex 4:
Graph and identify the y-intercept:  Graph  
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Ex 5:
The depreciated value V of a piece of equipment that is originally worth $2,200 is given by 
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 where t = the number of years since the equipment was purchased.


a.
Find the value after 2 years and 3 ½ years.

b.
Graph the equation and then use the graph to estimate the value after 4 years.


c.
After how many years is the value of the equipment $962.50.
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